
 

Stoke Cross 
Option A 

This provides a relatively 'tight' 
settlement boundary and opportunities 
for new development would be more 
limited. 

Option B 

This provides a more 'loose' settlement boundary 
and therefore there would be more opportunities 
for new development. 

 

Stoke Lacy 

Option A 

This provides a relatively 'tight' 
settlement boundary and opportunities 
for new development would be more 
limited. 

Option B 

This provides a more 'loose' settlement boundary 
and therefore there would be more opportunities 
for new development. 

 

 


